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Let R be the region enclosed by y = 31/4 — z and the axes in the first quad@

dy
(w)

b(y) y=3/i 3
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Rg n R is the base fsoIdFo ach y-value, the cros: of the solid taken perpendicular tthey
rectangle whose base lies in R and whose he ght@
Which one of the definite integrals gives the volume of the solid? ﬂ L) l -:'-:

Choose 1 answer:
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R be the region enclosed by the curve y = logy (z) y=3andz = 3.

/ y =logz(z)
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Region R is the base of a solid cross sections pe "3 T
Which one of the definite integral msﬂievd@r&did? b ._f,
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